



Vendor Ranking

**Letting:** 03231012 October 12, 2023 10:00 AM **Call Order:** 007 **Contract:** E3X43  
**District:** District 3 **Counties:** DIST/ST-WIDE, SANTA ROSA **Fed Aid No:** N/A  
**Contract Time:** 12/31/24 COMPLETION DATE **Project(s):** 42214237219 (\*)  
**Contract Desc:** MILTON OPS ROUTINE MAINTENANCE - WDD HERBICIDE TREATMENT

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	J CRUCE CONTRACTING LLC	Responsive	Winning bid	\$135,744.00	100.00%
2	GULF COAST ENVIRONMENTAL CONTRACTORS, INC.	Responsive	Non-Winning Bid	\$137,000.00	100.93%
3	CURB APPEAL SEVICES INC	Responsive	Non-Winning Bid	\$140,600.00	103.58%
4	AIRBOAT ADDICTS, INC.	Responsive	Non-Winning Bid	\$150,000.00	110.50%
5	DEANGELO CONTRACTING SERVICES LLC	Responsive	Non-Winning Bid	\$160,306.00	118.09%
6	FLORIDA RIGHT OF WAY CORPORATION	Responsive	Non-Winning Bid	\$338,040.00	249.03%

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*



Tabulation of Bids

**Letting:** 03231012 October 12, 2023 **Call Order:** 007 **Contract:** E3X43  
**District:** District 3 **Counties:** DIST/ST-WIDE, SANTA ROSA **Fed Aid No:** N/A  
**Contract Time:** 12/31/24 COMPLETION DATE **Project(s):** 42214237219 (\*)  
**Contract Descr:** MILTON OPS ROUTINE MAINTENANCE - WDD HERBICIDE TREATMENT

The work specified under this Work Document-driven Contract consists of the furnishing and application of herbicides to treat undesirable roadside vegetation along designated primary and interstate roadways in Santa Rosa County. Mobilization and Maintenance of Traffic are incidental to the pay items listed.

The overall budget estimate for this contract will be \$150,000.00.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

A Proposal Guaranty will not be required on indefinite quantity contracts, such as work document driven contracts, with an advertised estimated budget amount of \$150,000 or less regardless of the bid amount.

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) J CRUCE CONTRACTING LLC		(2) GULF COAST ENVIRONMENTAL CONTRACTORS, INC.		(3) CURB APPEAL SEVICES INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (CHEM WEED AND GRASS CONTROL (AC</b>								
0005 E580337 2 HERBICIDE (STRIP APPLICATION)		1,000.000 AC	41.00000	41,000.00	92.00000	92,000.00	64.00000	64,000.00
0010 E580337 3 HERBICIDE (SPOT APPLICATION < 100 SF)		1,700,000.000 SF	0.02000	34,000.00	0.00800	13,600.00	0.03000	51,000.00
0015 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)		120.000 AC	176.20000	21,144.00	93.00000	11,160.00	30.00000	3,600.00
0020 E580337 15 HERBICIDE, HAND APPLICATION-AREAS 100-1000 SF		88,000.000 SF	0.45000	39,600.00	0.23000	20,240.00	0.25000	22,000.00



Tabulation of Bids

Letting: 03231012    October 12, 2023    Call Order: 007    Contract: E3X43

Line No / Item ID Item Description <i>( ) indicates item is bid as Lump Sum</i>	Alternate	Quantity Units	(1) J CRUCE CONTRACTING LLC		(2) GULF COAST ENVIRONMENTAL CONTRACTORS, INC.		(3) CURB APPEAL SEVICES INC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

**SECTION: 0001 (CHEM WEED AND GRASS CONTROL (AC**

0001 CHEM WEED AND GRASS CONTROL (AC)	Section Totals:		\$135,744.00		\$137,000.00		\$140,600.00
---------------------------------------	-----------------	--	--------------	--	--------------	--	--------------

<b>Contract Grand Totals:</b>		\$135,744.00		\$137,000.00		140,600.00
-------------------------------	--	--------------	--	--------------	--	------------



Tabulation of Bids

Letting: 03231012 October 12, 2023 Call Order: 007 Contract: E3X43

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) AIRBOAT ADDICTS, INC.		(5) DEANGELO CONTRACTING SERVICES LLC		(6) FLORIDA RIGHT OF WAY CORPORATION	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (CHEM WEED AND GRASS CONTROL (AC</b>								
0005 E580337 2 HERBICIDE (STRIP APPLICATION)		1,000.000 AC	65.01000	65,010.00	120.00000	120,000.00	200.00000	200,000.00
0010 E580337 3 HERBICIDE (SPOT APPLICATION < 100 SF)		1,700,000.000 SF	0.03270	55,590.00	0.00770	13,090.00	0.07000	119,000.00
0015 E580337 4 HERBICIDE (STRIP APPLICATION)(AQUATIC)		120.000 AC	113.00000	13,560.00	207.00000	24,840.00	100.00000	12,000.00
0020 E580337 15 HERBICIDE, HAND APPLICATION-AREAS 100-1000 SF		88,000.000 SF	0.18000	15,840.00	0.02700	2,376.00	0.08000	7,040.00
<b>0001 CHEM WEED AND GRASS Section Totals: CONTROL (AC)</b>				<b>\$150,000.00</b>		<b>\$160,306.00</b>		<b>\$338,040.00</b>
<b>Contract Grand Totals:</b>				<b>\$150,000.00</b>		<b>\$160,306.00</b>		<b>338,040.00</b>



Tabulation of Bids

---

**Letting:** 03231012    October 12, 2023    **Call Order:** 007    **Contract:** E3X43

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*